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Afvard wiftrer

|qHY : 3 HUT | qUITEEF : \SY
Rewar frdvraaT amarear 3wt vistar Rystarcre gav Rqeig -

I YTAEE Aard B | (Answer all the questions.)

1. 160 ST WfF&EeH WHEHT RGP TFETHT WG A T FAel AT 7T
WIS ATTReEH T3 A 75 T 45 S | STHAEA 23 A0 gEHYT
T 9T AT WL |
A survey conducted among 160 people, it was found that the number of
the people who like only apple and only orange are 75 and
45 respectively. Among them 23 people do not like any of these two.

(a) Y AT WRA WTaH TENE A T el A RIST AT
WEaE O 9 TN &Y U GApd WA A9IST Wi
AT TUATCHEGAT FHAAT eI |
'A’ represents the set of people who like apple and 'O’ represents the
set of people who like orange then write the cardinality notation of

the number of people who don't like any of these fruits. (1
(b) wniger ST = Feraar woqm R
. Present the above information in a Venn diagram. (1)
(c) WS AT WIS WTHP T T4 TSR |
Find the numbszr of people who like apple. (3)
(d) VN AT WA T el A7 WIS Afazes ggaiad q@d
1|"'j§|ﬂ |

Compare the number of people who like apple and who like orange. (1)

2. fRerer i 10% I99 FNRAHT TS dgHAie 2 9Ud @
%.4,00,000 1T feTs; | I afeelt adBr AT 6.2,40,000 FAEEA |
Neeraj took a loan of Rs.4,00,000 for 2 years at the rate of 10% annual
compound interest. He paid Rs.2,40,000 at the end of first year.

(a) ¥mEl P, 9t 9 =9 R/ R, I9G T T 919 a9 Cl fasar

A d&Ry |

Write the relation among principal P, annual compound interest

rate R, time T and compound interest CI. ¢))
(b) ufe<T qUHT TR AW T TMIEIY |

Find the compound interest of the first year. (2)

S HIT.
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(¢) P g abar sremr sty @ R @@ 2 R S

How much total interest was paid by Niraj in two years? Find it.  (2)

e uger Afas 5.40,000 wir Refafer | dfeer e afts 5% @
T Pesr e | O eyt Sw A %.36,100 W At
Neelam bought a machine for Rs. 40,000. The price of machine
depreciates at the rate of 5% annually. The machinc is sold for Rs.
36,100 after using for some years.

(a) e a dfgaer qer Fhae geg ? 9ar TSR |

By how much does the price of machine depreciate in first year?

Find it. )
(b) T adufy @ Afew Faaft wfvaar Padr ? aar SRR
After how many years was the machine sold? Find it. (1)

(c) afk Sa g% A wrer f&g wer ava %.4,900 FASTAA oA
Afgar faarr IAeng Ffa gfqea ATET 91 AR g ! 9
AMITH |
Find the profit or loss percentage from selling the machine if she
earns Rs.4,900 from the rent of machine. (2)

WIET 7.9.2,07,345 Py 1 I AR s wew dzF woar fe

fafras <= feer s R o

Ramesh had NRs. 2,07,345. When he went to bank the exchange rate

was as follows.

$1 @r @it T =7.%.138.23 (Buying rate of $ 1 =Rs. 138.23)

$1 @ fawrer =.%.138.83 (Selling rate of $1 = Rs. 138.83)

(a) T AuTelr SR AR SR wrewr 9 fafwa o owEm
g 7 aEger |

Which exchange rate is used when Ramesh exchange American

dollar with Nepali rupees? Write it. (1)
(b) A.%.2,07,345 ATE W< EA ARPT IR T TS TRI |
Find the American dollar obtained from NRs. 2,07,345. (2)

(c) AT erAr Ffa gfawa sEHea dar | i SR faer )

%.140.2183 & ? YAT AMETRIY |
By what percent Nepali currency is devaluated when the selling

rate of 1 US dollar is Rs. 140.2183? Find it . (1)
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The volume of square based pyramid given in '.\\ < /
the figure 1s S12 cubic cm and length of side of / R /
base 15 16 cm. Bem

(a)

(b)

(¢)

T W Uy ReafrEa qu wawat ArvwE AT m, s
N wWAR Aagay awwa e frsg 0 aEET )
How many plane surfaces arca are counted to find the total surface

arca of a square based pyramid? Write it. (1)
@ funiwga ard g gAr SRR |

Find the vertical height of the pyramid. (1)
¥ fyafiga qo warar Srwe qar SRR )

Find the total surface arca of the pyramid. (3)

FAA R geeare a9ar 7 adfvren fafa g oger v e
=TEA | A QR @ I9g 3.5 P 7 smm@r s 1.05 R

ol

Jyoti bought a tank made up of a cylinder and a hemisphere from the
local market. The total height of the tank is 3.5 meter and radius of

base is 1.05 meter.

(a)

(b)

(c)

o v yviren fafq aa@r @ 3 AR FaNiET 9% waeeRe
RO 7 OTeT |

How many curved surfaces are there in a combined solid made of a

cylinder and a hemisphere? Write it (1)
I AT AT G ATMI eI |
Find the volume of the tank. (2)

39 g admr @t frex arfl sETEE 2 g ArSTRR |
How much maximum liters of water is contained in the tank? Find

it, (1)
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TSl AWMATER I 73418, N2 T I9rg w16 fee, 12 fee ¢
9 RrE O | S Pt 4 ReE e wuan gaiier anier seRs T
S 6 Ree x 2 Reewy dan &
The length, breadth and height of a rectangular room arc 16 fl, 12 fi

and 9 Q1. respectively, There are two squarc windows of dimension 4 fi
and one door of dimension 6 it x 2 fi.
(a) ST Tz whrt fee $.300 &1 @ e Fogrdsr #fa ad
qAFS, ! g SISy |
How much does it cost for carpeting the room at the rate of
Rs.300 per sq. ft.? Find it. (2)
(b) afz Y IH aed Ih PSR AR T fafegrar @ A
¥.19,560 & 9F& 99 Wiq T91 RFe @ TNET R I01 FSTE |
If the cost of coloring four walls and ceiling excluding doors and
windows of the room is Rs.19,560, find the rate of coloring per
square feet. (2)

RS AT PR AT qfeer SAfeqdr ¥.1,000, ST STRA{GAHT
%.2,000, G9T STHIGHAT 7.3,000 FT G TIT ASHAT IHH AT TG |
T BF THIETAT ¥.1,000 7 R TGS TG |
Hari deposited Rs.1000, Rs.2,000, Rs.3,000 in bank on his son
Aashish's first, second and third birthday respectively. In this way, he
increases the deposit by Rs. 1,000 on every birthday.
(a) FHFTOT AHAT FEARTATE gy T |
Define mean in arithmetic series. (1)
(b) T STHIEATAT FT FH T GG ! T TS|
How much total money is deposited upto 10* birthday? Find it. (2)
(c) & TURY WATGAWHIAT TS AT 3.66,000 SH § ? IR
fegerey |
Is Rs.66,000 deposited on Aashish account by 11" birthday? Give
reasons. )

(d) «fger @rarm Ha FEEEET €.1,05,000 SETORem 7 g

ST |
In how many years, will Rs.1,05,000 be deposited in the account
of Aashish? Find it. (2)
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0, afmy shwway Amw weng vy e A APl aear A drEa
TR | S AEA ATRT 800 At @
Kniti wants to fence her ficld having length twice of breadth, The arca
of the field 1s 800 square feet.
(a) w5 wroa) @n @wEy A
Wnite down the standard form of quadratic equation. (1)
(b) &7 affr uE wew araA Yo wer wfr AT Aw
TiRTE ? qwW AR )
How much the length of wire is required to fence the ficld once
with wire? Find it. (3)

10. (a) A THAR (Simplify): xyfy,+xyf ~ )

(b) FF TR (Solve): 2% +32=10 (3)

11. Rzq@ far APQT, ¥WMIAR SROWEE . U S _
PQRS 7 PQUT TS¢ MR PQ T S&r 7 /"

TR @ee PQ Y TR = aaa & |

In the given figure, APQT, parallelograms 5
PQRS and PQUT are standing on the same

base PQ and between the same parallel pP—Q
lines PQ and TR.

(a) AR Fee® PQRS ¥ PQUT &1 Swafaaa wary Serd |
Write the relation between the areas of parallelograms PQRS and

PQUT. Q)
(b) APQT ¥ &THd FAMIRK T PQRS # SAG@! T T

af7 g THER

Prove that area of APQT is half of the area of parallelogram

PQRS. ()
(c) & feguar Feret AAPDT ABPQ # 8A®H A ___ O

AT B ? TR Al A |

Are the areas of AAPD and ABPQ equal in Q

the given figure? Write with reason. S

2) 8 c
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12. mmommﬁnﬁmMpr "
L gaet qRimr 9 |
In the given figure, O is the centre of the circle. The
points M, N, P and L are on the circumference of the

circle.

(a) ok Hrorems afeaira TR |
Define the inscribed angle.

(b) al @I FOw LOP = (9x + 2)°
LMP = (4x + 5)° T x & AT IAT TSI |
If the central angle LOP = (9x + 2)° and inscribed angle
LMP = (4x + 5)°, find the value of x. (n

(c) aRfr #FveE® LMP ¥ LNP SR §ad 971 TancHe fafuare
g TR | (R 3 AW, anfe auer §F qeEe aevas
a1 1)

Verify experimentally that inscribed angles LMP and LNP are
equal. (Two circles having at least 3cm radii.are necessary.) (2)

13. (a) {9 PQRS #I =T TR &l PQ = 5.4 ¥.fa, QR = 5.6 A.f1,
RS=543f, SP=68%f T ZPQR= 75°a7[|ﬂ?p1?rPQRSafr

WwﬁWWPSMﬁWWI

Construct a quadrilateral PQRS in which
PQ =54 cm, QR = 5.6 cm, RS =54 cm, SP = 6.8 cm and

ZPQR = 75°. Then construct a triangle PSM equal in area to the

quadrilateral PQRS. ' (3)
(b) ¥ fegger qUEMIR I ABCD -1 p o

AE=BE @ % Pn{&f BEC® MR S(q@r |

ABCD @1 #fa gfawra &awe AT § ? I

a'ﬂraqﬂ'm

In the given adjoining parallelogram ABCD, _ A

AE = BE. What percentage of area of A E

parallelogram ABCD is occupied by the

triangle BEC? Find it. _ ¢))




14, % feguar faawr PQ & W@l S92, RS &
TA@ 93 T QS § wue

ZErE SSE |

In the given figure alongside, PQ represents
the height of house, RS represents the height

of tower and QS represents the distance from
the house to the tower.

15.

(a)

(b)
(c)
(d)

RE-1031'MP’

T~ IANT FIOF ATH FET7H |
Write the name of angle of clevation of top of tower as observed

from the roof of the house. (N
TR 1 | 9A1 AMIAAH |

Find the value of TR. (1
o7 7 a7 faaa 3 o SmeEng

Find the distance between the house and the tower. (1)
mzmmqvmvshzvmhvmzummmaowh

At I TR, P FIS FEE
Is the angle of depression of 30° formed when the roof of the
house is observed from a point 28 meter below the top of the

tower? Give reason.

(1)

fremdt aongas wfem famaa S0 gmigwEr @ e ghumn
farardiwed oy wrE grenTEATE iAo TR 1 I TangEal wivTE

29 B

The given data represents the marks obtained by the students in an
intemal examination of Mathematics with full marks 50. The median of

the data is 29.

IS (Obtained Marks) 0-10 110-20 '20-30

30-40

40-50

AT AT (Number of studeats) | 3 | 7 i 10

X

10

() wiEeT Aol SeEE
Write the median class.

(b) x WIT YaT TMITRIA 4
Find the value of x.

(c) PRuaT qarEs TS TATEE T Fmeaar |
Find the mean mark of the given data.

(1)
(2)

(2)
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(d) 20 3¥FF W=T B T 20 A1 QIRT G AEH qreer Wik Fepardivgy
AT e e |

Find the ratio of students obtaining marks less than 20 and 20 or

more than 20. (1)

16. TSET SAISTAT 7 3T H0 T 4 AT AT SN T 9% TJAe® I | gaarer
qole® Ud Ui ol T T rdr Refruat &7 |
A bag contains 7 black and 4 red balls of same shape and size. Two
balls are drawn randomly one after another without replacement.
(a) 3 BT RS 3T AT AT ¢ P(B N R) FT Y7 w&eid |
If B and R be two independent events then write the formula of
P(BNR). (1)
(b) T grfaa qRUTHESST SRS 987 FerEwr 2@1’37@%( |
Show the probabilities all the possible outcomes in a tree diagram.(2)

(c) T T« T F I FRTSAAT IT ST |

Find the probability of getting both' black balls. (1)
(d) T T A I FHTAAT, T4 I HIOY G GEATIATART FiAT G860 AT
el B 7 99T TS erd |

By how much the probability of getting both red balls is more or
less than the probability of getting both black balls? Find it. (1)

-0-



